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Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 264330143291
Status : Answered

Chosen Option : 2
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Q.2 नीचे तीन कथन और उनके बाद तीन िन� कष� I, II और III िदए गए ह�। कथनो ंको स� य मानते �ए, भले
ही वे सामा� य �प से �ात त� यो ंसे िभ� न �तीत होते हो,ं यह िनण�य लीिजए िक कौन सा/से िन� कष�
कथनो ंका तािक� क �प से अनुसरण करता है / करते ह�।

कथन:
सभी रैकेट, लोशन ह�।
सभी लोशन, िवकेट ह�।
कुछ मेज, िवकेट ह�।

िन� कष�:
I. कुछ िवकेट, रैकेट ह�।
II. कुछ मेज, लोशन ह�।
III. सभी लोशन, रैकेट ह�।

Ans 1. केवल िन� कष� I और II अनुसरण करते ह�

2. केवल िन� कष� II अनुसरण करता है

3. केवल िन� कष� I और III अनुसरण करते ह�

4. केवल िन� कष� I अनुसरण करता है

Question ID : 264330142959
Status : Answered

Chosen Option : 4

Q.3 ‘A # B’ means ‘A is the brother of B’.
‘A @ B’ means ‘A is the daughter of B’.
‘A & B’ means ‘A is the husband of B’.
‘A % B’ means ‘A is the wife of B’.
If S % D # F @ G & H @ J, then how is F related to J?

Ans 1. Daughter’s daughter

2. Son’s wife

3. Daughter

4. Sister’s daughter

Question ID : 264330142901
Status : Answered

Chosen Option : 1

Q.4 तीन कथनो ंके बाद I, II और III से �मांिकत तीन िन�ष� िदए गए ह�। आपको इन कथनो ंको स� य
मानना है, भले ही वे सामा� �प से �ात त�ो ंसे िभ� �तीत होते हो।ं यह तय कर�  िक कौन सा/से
िन�ष� तािक� क �प से िदए गए कथनो ंका अनुसरण करता है/ करते ह�।

कथन:
सभी पेपर, प� ह�।
सभी प�, डािलयाँ ह�।
सभी डािलयाँ, वृ� ह�।

िन�ष�:
(I) कुछ वृ�, पेपर ह�।
(II) सभी प�, पेपर ह�।
(III) कोई भी प�, पेपर नही ंहै।

Ans 1. या तो िन�ष� I अनुसरण करता है या िन�ष� III अनुसरण करता है

2. केवल िन�ष� I अनुसरण करता है

3. कोई भी िन�ष� अनुसरण नही ंकरता है

4. केवल िन�ष� II अनुसरण करता है

Question ID : 264330142974

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.5 उस िवक� का चयन कीिजए जो िदए गए श�ो ंको तािक� क और साथ�क ढंग से सही �म �व�था म�
दशा�ता है।
1. घर
2. दीवार
3. िम�ी
4. ईटं
5. कमरा

Ans 1. 3, 4, 1, 2, 5

2. 3, 5, 2, 4, 1

3. 3, 4, 2, 5, 1

4. 3, 2, 4, 5, 1

Question ID : 264330125999
Status : Answered

Chosen Option : 3

Q.6 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� ��वाचक िच� (?) के � थान पर आएगी?
17, 21, 28, 38, 51, 67, ?

Ans 1. 96

2. 88

3. 98

4. 86

Question ID : 264330142985
Status : Answered

Chosen Option : 4

Q.7 उस िवक� का चयन कीिजए जो िदए गए श�ो ंको तािक� क और साथ�क ढंग से सही �म �व�था म�
दशा�ता है।
1. अ�ाय
2. पु�कालय
3. पु�क
4. पृ�
5. वा�

Ans 1. 2, 3, 1, 4, 5

2. 5, 2, 3, 1, 4

3. 3, 1, 2, 4, 5

4. 4, 5, 3, 1, 2

Question ID : 264330125994
Status : Answered

Chosen Option : 1

Q.8 उस िवक� का चयन कर�  जो िदए गए श�ो ंके उस सही �म को दशा�ता है िजस �म म� वे अं�ेजी
श�कोश म� आएंगे।

1. OBSCURE
2. OBLIQUE
3. OBLIGE
4. OBLIGATE
5. OBEY
6. OBJECT

Ans 1. 3, 6, 5, 4, 2, 1

2. 6, 5, 4, 3, 2, 1

3. 5, 6, 4, 3, 2, 1

4. 2, 6, 5, 4, 3, 1

Question ID : 264330142856
Status : Answered

Chosen Option : 3
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Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 264330143277
Status : Answered

Chosen Option : 2

Q.10 'L & M' का अथ� है 'L, M का िपता है'।
'L = M' का अथ� है 'L, M की बहन है'।
'L ^ M' का अथ� है 'L, M के भाई का बेटा है'।
'L # M' का अथ� है 'L, M की प�ी है'।
िन�िल�खत म� से िकस िवक� का अथ� है, 'B, D का ससुर है'?

Ans 1.  B = C # A & D

2.  D & A = C # B

3. A ^ B & C # D

4.  B ^ A = C # D

Question ID : 26433086989

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.11 एक िनि�त कूट भाषा म� 'CREDIT' को 'SHCFSD' िलखा जाता है और 'DEMAND' को 'CMZNFE'
िलखा जाता है। उस भाषा म� 'FAMILY' को कैसे िलखा जाएगा?

Ans 1. XKHNBG

2. EZLHKX

3.  GBNJMZ

4. EBLHMX

Question ID : 26433056577
Status : Answered

Chosen Option : 1

Q.12 उस िवक� का चयन कीिजए जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले
श� से संबंिधत है। (श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श� म� अ�रो ंकी
सं�ा/�ंजनो/ं�रो ंकी सं�ा के आधार पर वे एक-दूसरे से संबंिधत नही ंहोने चािहए।)

सु�ी (Lethargy) : सतक� ता (Alertness) :: �िमक (Gradual) : ?
Ans 1. न� करना (Destroy)

2. िवलाप (mourn)

3. उथला (Shallow)

4. आक��क (Abrupt)

Question ID : 264330142860
Status : Answered

Chosen Option : 4
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Q.13 उस िवक� का चयन कीिजए जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले
श� से संबंिधत है। (श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श� म� अ�रो ंकी
सं�ा/�ंजनो/ं�रो ंकी सं�ा के आधार पर वे एक-दूसरे से संबंिधत नही ंहोने चािहए।)

एं�ोपोलॉजी (Anthropology) : मनु� :: कॉ�ोलॉजी (Conchology) : ?
Ans 1. शंख/शीप (Shells)

2. िम�ी (Soil)

3. नाम (Names)

4. खोपड़ी (Skull)

Question ID : 264330142870

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.14 नीचे िदए गए समीकरण म� * िच�ो ंको बदलने और समीकरण को संतुिलत करने के िलए गिणतीय िच�ो ं
के सही संयोजन का चयन कीिजए।
14*7*88*37*47

Ans 1. ×,−,+,=

2. +,×,=,−

3. =,−,×,+

4. −,+,=,×

Question ID : 264330142884
Status : Answered

Chosen Option : 1
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Q.15

Ans

1. 

2. 

3. 

4. 

Question ID : 264330143266
Status : Answered

Chosen Option : 4

Q.16 उस िवक� का चयन कीिजए जो उन अ�रो ंको िन�िपत करता है िज�� नीचे िदए गए �र� �थानो ंम�
बाएं से दाएं �िमक �प से रखने पर अ�र �ंृखला पूरी हो जाएगी।
B _ _ C V _ N M _ V B _ M E _ B N M _ _

Ans 1. N M B C N V F V

2. N M B C N W F V

3. N M B D N W F V

4. N M B D N V F V

Question ID : 26433067545
Status : Answered

Chosen Option : 4
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Q.17 'A + B' का अथ� है 'A, B का िपता है'।
'A - B' का अथ� है 'A, B की बहन है'।
'A × B' का अथ� है 'A, B की माँ है'।
'A ÷ B' का अथ� है 'A, B का बेटा है'।
यिद P – Q + R ÷ S × T, तो िन�िल�खत म� से कौन-सा कथन सही नही ंहै?

Ans 1. S, Q की माँ है।

2. Q, S का पित है।

3. P, S की भाभी है।

4. R, P का भतीजा है।

Question ID : 26433095989
Status : Answered

Chosen Option : 2

Q.18 उस िवक� का चयन कीिजए जो पाँचव� पद से उसी �कार संबंिधत है जैसे दूसरा पद पहले पद से और
चौथा पद तीसरे पद से संबंिधत है।
HOPE : QFIP :: CUTE : UFDV :: MARS : ?

Ans 1. SRAM

2. STNB

3. TQLB

4. RSMA

Question ID : 264330142839
Status : Answered

Chosen Option : 2

Q.19 * िच�ो ंको �ित� थािपत करने और िदए गए समीकरण को संतुिलत करने के िलए गिणतीय िच�ो ंके सही
संयोजन का चयन कीिजए।
193 * 2 * 2 * 56 * 107 * 142

Ans 1. ×, ÷, ×, –, =

2. –, +, ÷, ×, =

3. ×, ÷, +, –, =

4. ÷, +, –, ×, =

Question ID : 264330142887
Status : Not Answered

Chosen Option : --

Q.20 उस िवक� का चयन कर�  जो उन अ�रो ंका िन�पण करता है, िज� ह� नीचे �ंृखला म� िदए गए �र� त
� थानो ंपर बाएं से दाएं �िमक �प से रखने पर �ंृखला पूण� हो जाएगी।

_ M _ _ U _ D _ _ M _ C U _ D C
Ans 1. U U C M C U D M

2. U D C M C U D U

3. U D C M C U D M

4. U D C U C U D M

Question ID : 264330142854
Status : Answered

Chosen Option : 3
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Q.21 उस िवक� प का चयन कीिजए जो तीसरे पद से उसी �कार संबंिधत है िजस �कार दूसरा पद पहले पद
से संबंिधत है और छठा पद पॉंचव� पद से संबंिधत है।
7: 1000 :: 4:? :: 9: 1728

Ans 1. 348

2. 343

3. 340

4. 344

Question ID : 264330142991
Status : Not Answered

Chosen Option : --

Q.22 तीन कथन िदए गए ह�, िजसके बाद तीन िन�ष� I, II और III िदए गए ह�। कथनो ंको स� मानते �ए, भले
ही वे सामा� �प से �ात त�ो ंसे िभ� �तीत होते हो,ं िनि�त कर�  िक कौन-सा/से िन�ष� कथनो ंका
तािक� क �प से अनुसरण करता है/करते ह�।

कथन:
सभी ट� क, बस ह�।
कुछ बस�, बाइक ह�।
सभी बाइक, हवाई जहाज ह�।

िन�ष�:
I. कुछ हवाई जहाज, बस ह�।
II. कुछ बस�, ट� क ह�।
III. सभी हवाई जहाज, ट� क ह�।

Ans 1. केवल िन�ष� I और II अनुसरण करते ह�।

2. सभी िन�ष� अनुसरण करते ह�।

3. केवल िन�ष� I और III अनुसरण करते ह�।

4. केवल िन�ष� II और III अनुसरण करते ह�।

Question ID : 26433092646
Status : Answered

Chosen Option : 1

Q.23 उस िवक� का चयन कर�  जो उन अ�रो ंका िन�पण करता है, िज� ह� नीचे �ंृखला म� िदए गए �र� त
� थानो ंपर बाएं से दाएं �िमक �प से रखने पर �ंृखला पूण� हो जाएगी।

A_ M X _ Z _ X A Z _ _
Ans 1. Z A X M X

2. X A M M X

3. Z A M M X

4. Z A M M A

Question ID : 264330142850
Status : Answered

Chosen Option : 3

Q.24 उस िवक� का चयन कीिजए जो पाँचव� पद से उसी �कार संबंिधत है जैसे दूसरा पद पहले पद से और
चौथा पद तीसरे पद से संबंिधत है।
FAST : UZHG :: SLOW : HOLD :: WALK : ?

Ans 1. DYSP

2. ULAJ

3. LKWA

4. DZOP

Question ID : 264330142843
Status : Answered

Chosen Option : 4
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Q.25 एक िनि�त कूट भाषा म� ‘FRANK’ को ‘121811422’ के �प म� और ‘CRIED’ को ‘618958’ के �प म�
िलखा जाता है। उसी कूट भाषा म� ‘GREAT’ को कैसे िलखा जाएगा?

Ans 1. 141810120

2. 14185240

3. 14185140

4. 14185120

Question ID : 26433056201
Status : Answered

Chosen Option : 3

Q.1 कौन-से खा� पदाथ� िवटािमन B12 का अ�ा �ोत होते ह�?
Ans 1. स��यां

2. दाल

3. मांस

4. फल

Question ID : 264330142724
Status : Not Answered

Chosen Option : --

Q.2 िन�िल�खत म� से कौन-सा एक पु�-रिहत, बीजाणु पैदा करने वाला पादप है, जो आमतौर पर एक पतले
सीगं जैसे या सुई जैसे कै�ूल के �प म� होता है, िजसम� बीजाणु होते ह� जो एक सपाट, हरी प�ी से
िवकिसत होते ह�?

Ans 1. हॉन�वॉट�

2. सैलंडन

3. �र��या

4. कैरा

Question ID : 264330142712
Status : Not Answered

Chosen Option : --

Q.3 प� पुर�ार 2021 से स�ािनत, अंशु जामसेनपा को िन�िल�खत म� से िकस �े� म� उनकी उ�ृ�
उपल��यो ंके िलए स�ािनत िकया गया है?

Ans 1. तैराकी

2. बा�ेटबॉल

3. पव�तारोहण

4. एथलेिट�

Question ID : 264330142684
Status : Not Answered

Chosen Option : --

Section : General Awareness
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Q.4 जून 2021 म� भारत सरकार ने FAME इंिडया �ीम II का िव�ार िकया, िजसका उ�े� __________
तक इले��� क वाहनो ंके िवकास को बढ़ावा देना है।

Ans 1. माच� 2024

2. माच� 2026

3. माच� 2025

4. माच� 2023

Question ID : 26433074177
Status : Answered

Chosen Option : 3

Q.5 2011 की जनगणना के अनुसार दमन और दीव का िलंगानुपात िकतना है?
Ans 1. 775

2. 886

3. 678

4. 618

Question ID : 264330109870
Status : Not Answered

Chosen Option : --

Q.6 िन�िल�खत म� से कौन सी नदी िसंधु नदी �णाली की सहायक नदी है?
Ans 1. बेतवा

2. सतलुज

3. सोन

4. कोसी

Question ID : 26433082192
Status : Answered

Chosen Option : 2

Q.7 भारत के महा�ायवादी की िनयु�� कैसे/िकसके �ारा की जाती है?
Ans 1. उ� चतम � यायालय के � यायाधीशो ं�ारा मतदान करके

2. रा� ट� पित

3. �धान मं�ी

4. यूपीएससी (UPSC )

Question ID : 264330113428
Status : Answered

Chosen Option : 2

Q.8 पि�मी घाट की पहािड़यो ंम� �ाय: औसत तापमान िकतना होता है?
Ans 1. 25°C से ऊपर

2. 35°C से ऊपर

3. 25°C से नीचे

4. 15°C से नीचे

Question ID : 264330142725
Status : Answered

Chosen Option : 3
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Q.9 'मून वॉक' िकस �िस� अमे�रकी नत�क और गायक की आ�कथा�क कृित है?
Ans 1. माइकल जै�न

2. डोना मैककेनी

3. िलंडसे �िल�ग

4. डेबी रेनॉ�्स

Question ID : 264330141397
Status : Answered

Chosen Option : 3

Q.10 सोशल सिव�स लीग की �थापना बॉ�े म� िकसके �ारा की गई थी?
Ans 1. मानव�� नाथ रॉय

2. गोपाल कृ� गोखले

3. नारायण म�ार जोशी

4. महादेव गोिवंद रानाडे

Question ID : 26433089162
Status : Answered

Chosen Option : 4

Q.11 िन�िल�खत म� से िकसे कथक के िलए उ�ाद िब���ाह खान युवा पुर�ार 2017 से स�ािनत िकया
गया था?

Ans 1. िवधा लाल

2. राज�� गंगानी

3. गीतांजिल लाल

4. िजत�� महाराज

Question ID : 26433074826
Status : Answered

Chosen Option : 4

Q.12 िन�िल�खत म� से कौन-सा मंिदर रेखा देउला की शैली म� या एक घुमावदार अिधरचना वाला बनाया गया
है?

Ans 1. म� �देश म� कंद�रया महादेव मंिदर

2. उड़ीसा म� �ी जग�ाथ मंिदर

3. केरल म� �ी प�नाभ�ामी मंिदर

4. तिमलनाडु म� कैलासनाथर मंिदर

Question ID : 26433090748
Status : Not Answered

Chosen Option : --

Q.13 1887 म� इनम� से िकसके �ारा िकया गया �योग, का�िनक �काशवाही (luminiferous) ईथर के संबंध
म� पृ�ी के वेग को खोजने का एक �यास था?

Ans 1. पीटर ज़ीमान (Pieter Zeeman)

2. जे� �क�  मै�वेल (James Clerk Maxwell)

3. िमशेलसन और मॉल� (Michelson and Morley)

4. ह��िड� क एंटोन लोर� �ज़ (Hendrik Antoon Lorentz)

Question ID : 264330142735
Status : Not Answered

Chosen Option : --
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Q.14 िन�िल�खत म� से कौन सा भारतीय नाग�रको ंके िलए एक मौिलक कत�� नही ंहै?
Ans 1. दाश�िनक �भाव और िज�ासा की भावना िवकिसत करना

2. �ाकृितक पया�वरण की र�ा करना और उसे बेहतर बनाना

3. साव�जिनक संपि� की सुर�ा करना

4. देश की र�ा करना

Question ID : 264330109836
Status : Answered

Chosen Option : 1

Q.15 िन�िल�खत म� से िकसने 1784 म� कलक�ा म� एिशयािटक सोसाइटी की �थापना की?
Ans 1. िविलयम जो�

2. जोनाथन डंकन

3. वारेन हे��ं�

4. चा�� आयरे

Question ID : 26433065569
Status : Answered

Chosen Option : 3

Q.16 अमरिस�ा ________ के दरबार के तेज� वी � य��यो ं(िद� गजो)ं म� से एक था।
Ans 1. च� �गु� त II

2. च� �गु� त I

3. कुमारगु� त

4. समु�गु� त

Question ID : 264330108995
Status : Answered

Chosen Option : 1

Q.17 पॉवर िल��ंग म� िन�िल�खत म� से िकस भारो�ोलन शैली का उपयोग िकया जाता है?
Ans 1. पॉवर िल�

2. डेड िल�

3. �ीन एंड जक�

4. �� ेट िल�

Question ID : 264330142824
Status : Answered

Chosen Option : 1

Q.18 पापनासम िसवन िन�िल�खत म� से िकस संगीत से संबंिधत थे?
Ans 1. पंजाबी

2. कना�टकी

3. �ुपद

4. �ाल

Question ID : 264330141205
Status : Answered

Chosen Option : 3
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Q.19 फरवरी 2022 म� एक ऑनलाइन रैिपड शतरंज टूना�म�ट ‘एयरिथं� मा�स�’ के आठव� दौर म� िकस
भारतीय ��डमा�र ने िव� के नंबर 1 मै�स काल�सन को हराया?

Ans 1. रौनक िसधवानी

2. गुकेश डी

3. िनहाल सरीन

4. आर ��ानानंद

Question ID : 26433054450
Status : Answered

Chosen Option : 2

Q.20 बहमनी सा�ा� की �थापना के समय इसकी राजधानी �ा थी?
Ans 1. अहमदनगर

2. गुलबग�

3. कोलार

4. िबदर

Question ID : 26433065576
Status : Answered

Chosen Option : 1

Q.21 ‘जंगतालम’ कौन से भारतीय रा� का लोक नृ� है?
Ans 1. पि�म बंगाल

2. िमज़ोरम

3. असम

4. नागालै�

Question ID : 264330141324
Status : Answered

Chosen Option : 2

Q.22 उड़ीसा म� चावल को िकस �कार की फसल माना जाता है?
Ans 1. बागवानी

2. िनवा�ह

3. �ावसाियक

4. रोपण

Question ID : 264330142769
Status : Answered

Chosen Option : 4

Q.23 2022 की गणतं� िदवस परेड पर िन�िल�खत म� से कौन-से रा� ने सव��े� झांकी पुर�ार जीता?
Ans 1. गुजरात

2. उ�र �देश

3. कना�टक

4. मेघालय

Question ID : 264330141332
Status : Answered

Chosen Option : 2
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Q.24 भारत म� �वास के बारे म� िन�िल�खत म� से कौन-सा कथन गलत है?
Ans 1. �वास म� पुल (pull) और पुश (push) कारक होते ह�।

2. �वास �ामीण से शहरी हो सकता है।

3. �वास सामािजक कारको ंपर िनभ�र नही ंकरता है।

4. यह शहरी से �ामीण �े�ो ंतक हो सकता है।

Question ID : 264330142799
Status : Answered

Chosen Option : 4

Q.25 िन�िल�खत म� से िकसने माच� 2022 म� पुणे, महारा��  म� छ�पित िशवाजी महाराज की �ितमा का
अनावरण िकया?

Ans 1. भगत िसंह को�ारी

2. नर�� मोदी

3. राम नाथ कोिवंद

4. उ�व ठाकरे

Question ID : 26433090633
Status : Answered

Chosen Option : 1

Q.1 िशवम एक काय� को 6 िदनो ंम� और िववेक 24 िदनो ंम� कर सकता है। उ�ोनें एक साथ काम �ारंभ
िकया, लेिकन िशवम ने काय� पूरा होने से 3 िदन पूव� काय� को छोड़ िदया। वह काय� िकतने िदनो ंमे पूरा
�आ?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433074943
Status : Answered

Chosen Option : 1

Q.2 अजय अपने �ाहको ंको एक ओवरकोट पर 20% की छूट �दान करता है और वह अभी भी 28% का
लाभ कमाता है। ₹1,800 म� बेचे गए ओवरकोट की वा�िवक �य मू� गणना कर�।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063404
Status : Not Answered

Chosen Option : --
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Q.3 एक रािश 9 वष� म� ितगुनी हो जाती है। साधारण �ाज की वािष�क दर �ात कीिजए।
Ans

1. 

2. 

3. 

4. 

Question ID : 264330142668
Status : Not Answered

Chosen Option : --

Q.4 1610 m की दौड़ म� अमरजीत 91 सेकंड म� अंितम िबंदु पर प�ँचता है और िदनेश 115 सेकंड म� अंितम
िबंदु पर प�ँचता है। अमरजीत, िदनेश को िकतनी दूरी से हराता है?

Ans 1. 336 m

2. 326 m

3. 330 m

4. 340 m

Question ID : 26433063423
Status : Not Answered

Chosen Option : --

Q.5 17 ���यो ंकी औसत आयु 37 वष� है। 2 नए ���यो ंको शािमल करने पर औसत आयु 1 वष� बढ़
जाती है। नए ���यो ंकी औसत आयु �ा है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433061062
Status : Answered

Chosen Option : 3

Q.6 अिनल एक कमीज़ ₹1,400 म� खरीदता है और उसे 15% की हािन पर बेच देता है। कमीज़ का िव�य
मू� �ा है?

Ans 1. ₹1,250

2. ₹1,190

3. ₹1,140

4. ₹ 1,200

Question ID : 264330142584
Status : Answered

Chosen Option : 2
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Q.7 बेलनाकार एक �ंभ का व�-पृ�ीय �े�फल 528 m2 है और इसका आयतन 1848 m3 है। इसकी
ि��ा और ऊँचाई म� अनुपात �ात कीिजए।

Ans 1. 7 : 3 

2. 7 : 12

3. 9 : 10

4. 9 : 5

Question ID : 26433063976
Status : Not Answered

Chosen Option : --

Q.8 यिद ₹1,800 अंिकत मू� वाली एक घड़ी ₹1,250 म� बेची जा रही है, तो घड़ी को बेचने पर दी गई छूट
का �ितशत �ा है?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330129416
Status : Answered

Chosen Option : 3

Q.9 कौन-सा वािष�क भुगतान, 5% वािष�क साधारण �ाज की दर से 4 वष� बाद ₹38,700 का ऋण चुकाएगा?
Ans 1. ₹9,150

2. ₹9,100

3. ₹9,050

4. ₹9,000

Question ID : 264330104194
Status : Not Answered

Chosen Option : --

Q.10 जय अपनी मािसक आय का 50% िकराने और िबलो,ं 20% कपड़े खरीदने पर, 5% दवाओ ंपर खच�
करता है और उसके पास ₹12,500 की रािश बचती है। जय की मािसक आय �ा है?

Ans 1. ₹57,500

2. ₹50,000

3. ₹65,000

4. ₹45,000

Question ID : 264330142516
Status : Not Answered

Chosen Option : --
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Q.11 एक चुनाव म�, मतदाता सूची के 15% मतदाताओ ंने अपना मत नही ंडाला और 100 मतदाताओ ंने अपना
मतप� खाली छोड़ िदया। राम और �ाम दो ही ��ाशी थे। िवजेता राम को सूची के सभी मतदाताओं
के 69% का समथ�न �ा� �आ और उसे �ाम से 630 मत अिधक िमले। सूची म� मतदाताओ ंकी सं�ा
�ात कीिजए।

Ans 1. 1200

2. 1000

3. 1100

4. 1300

Question ID : 26433075527
Status : Not Answered

Chosen Option : --

Q.12 40 िव�ािथ�यो ंकी एक क�ा ने गिणत की परी�ा दी। 18 िव�ािथ�यो ंके औसत अंक 75 थे। अ�
िव�ािथ�यो ंके औसत अंक 62 थे। पूरी क�ा के औसत अंक िकतने होगें?

Ans 1. 72.52

2. 69.85

3. 67.85

4. 68.50

Question ID : 264330102320
Status : Not Answered

Chosen Option : --

Q.13 जब 151314 को 15 से िवभािजत िकया जाता है, तो िकतना शेषफल �ा� होता है?
Ans 1. 9

2. 7

3. 11

4. 6

Question ID : 264330126161
Status : Not Answered

Chosen Option : --

Q.14 छह अंको ंकी सबसे छोटी सं�ा कौन सी है जो 12, 16, 24, 28 से िवभा� हैॽ
Ans 1. 100128

2. 100160

3. 100180

4. 100190

Question ID : 26433082956
Status : Not Answered

Chosen Option : --

Q.15 सुनील को ₹15,750 के उस ऋण को चुकाने के िलए िकतना वािष�क भुगतान (₹ म�) करना होगा, िजसे
उसने अपने चचेरे भाई से 5% साधारण �ाज की दर पर 3 वष� म� अदा करने के वादे के साथ उधार िलया
था?

Ans 1. 4,800

2. 2,500

3. 5,000

4. 4,850

Question ID : 264330104258
Status : Not Answered

Chosen Option : --

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Q.16 आनंद 4 िदनो ंम� एक दीवार का िनमा�ण कर सकता है, जबिक राजन उसी काम को 7 िदनो ंम� पूरा कर
सकता है। िकतने िदनो ंम� आनंद और राजन दीवार का िनमा�ण कर� गे यिद वे एक साथ काम करते ह�?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433074567
Status : Not Answered

Chosen Option : --

Q.17 एक मोटरबोट, िजसकी ��थर जल म� चाल 20 km/h है, धारा के अनुकूल 75 km जाती है और उतनी ही
दूर वापस आती है िजसम� उसे कुल 8 घंटे का समय लगता है। धारा की चाल � या है?

Ans 1. 5 km/h

2. 6 km/h

3. 4.5 km /h

4. 6.5 km/h

Question ID : 264330142264
Status : Not Answered

Chosen Option : --

Q.18 वािशंग पाउडर की कीमत म� 15% की कमी, एक खरीदार को Rs.1,275 के िलए 5 िकलो अिधक �ा�
करने म� स�म बनाती है। वािशंग पाउडर का मूल मू� �ित िक�ा �ात कर�।

Ans 1. Rs.45

2. Rs.35

3. Rs.40

4. Rs.50

Question ID : 26433075463
Status : Not Answered

Chosen Option : --

Q.19 एक समूह म� 35 छा�ो ंकी औसत आयु 12 वष� है। जब िश�क की आयु शािमल कर ली जाती है, तो
औसत एक बढ़ जाता है। िश�क की आयु �ा है?

Ans 1. 42 वष�

2. 45 वष�

3. 39 वष�

4. 48 वष�

Question ID : 264330142515
Status : Not Answered

Chosen Option : --
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Q.20 यिद 180 : y :: y : 245, और y > 0 है, तो y का मान �ात कीिजए।
Ans 1. 190

2. 210

3. 200

4. 220

Question ID : 264330103271
Status : Not Answered

Chosen Option : --

Q.21 सं�ा 8, 66 और 112 का चतुथ� समानुपाती �ा होगा?
Ans 1. 729

2. 924

3. 784

4. 848

Question ID : 26433061899
Status : Not Answered

Chosen Option : --

Q.22 एक पंखे का फुटकर मू� Rs.2,530 है। यिद िनमा�ता को 10% का लाभ होता है, थोक �ापारी को
15% का लाभ होता है और फुटकर िव�ेता को 25% का लाभ होता है, तो उ�ाद �य मू� _______
है।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082371
Status : Not Answered

Chosen Option : --

Q.23 16 पु�ष 24 m लंबी खाई, िदन म� 6 घंटे काम करते �ए, 18 िदनो ंम� खोद सकते ह�। उसी के जैसी 42 m
लंबी खाई को 9 िदनो ंम� खोदने के िलए िकतने और पु�षो ंको लगाया जाना चािहए, जबिक ��ेक
��� अब �ितिदन 12 घंटे काम करेगा?

Ans 1. 12

2. 14

3. 10

4. 9

Question ID : 264330142259
Status : Not Answered

Chosen Option : --

Q.24 एक ठोस लंब वृ�ीय शंकु के आधार की ि��ा 20 cm है और इसकी ऊँचाई 21 cm है। इसका संपूण�
पृ�ीय �े�फल (cm2 म�) �ा है?

Ans 1. 760π

2. 980π

3. 890π

4. 680π

Question ID : 264330142755
Status : Not Answered

Chosen Option : --
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Q.25 महेश एक वाटर कूलर ₹28,500 म� खरीदता है और ₹24,800 म� बेचता है। उसका हािन �ितशत िकतना
है? (दशमलव के दो �थानो ंतक सही)

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082596
Status : Not Answered

Chosen Option : --

Q.1 Select the INCORRECTLY spelt word.
Ans 1. Bourgeoisie

2. Burgaler

3. Beggar

4. Burlesque

Question ID : 26433088823
Status : Not Answered

Chosen Option : --

Q.2 Fill in the blank with the most appropriate word that can be used here based on the
given context.

Macaulay _________ the western education system in India.
Ans 1. revisiting

2. accepting

3. introduced 

4. improvising

Question ID : 26433059830
Status : Answered

Chosen Option : 3

Q.3 Select the most appropriate meaning of the underlined segment in the given sentence.

Reghu’s been trying to keep a lid on his emotions, but every now and then his anger
erupts.

Ans 1. leave someone at a time when they need you to stay and help them 

2. control the level of something in order to stop it increasing

3. make things difficult for someone

4. either take less care of your appearance or relax completely and enjoy yourself 

Question ID : 26433059815
Status : Answered

Chosen Option : 2

Section : English Language
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Q.4 Select the most appropriate synonym of the underlined word in the following
sentence.

As far as possible, solid waste should be managed at the household level so that
minimum waste is delivered for management at the community level.

Ans 1. deposited

2. withdrew 

3. relocated 

4. replaced 

Question ID : 26433059802
Status : Answered

Chosen Option : 1

Q.5 Substitute one word for the italicised expression.
As a port it was notorious for its smuggling and the trade was prohibited by law.

Ans 1. chaste

2. legitimate 

3. illicit 

4. licit 

Question ID : 26433059752
Status : Answered

Chosen Option : 3

Q.6 Identify the idiom that best expresses the meaning of the underlined group of words.

There are a number of things that the country needs to improve but the main part of
the problem is corruption.

Ans 1. Grasping at straws  

2. Last resort

3. Dodged a bullet

4. Crux of the matter 

Question ID : 264330121052
Status : Answered

Chosen Option : 4

Q.7 Select the most appropriate ANTONYM of the word ‘Decipher’ from the given sentence.

Many sculptures of our history are like the unravelled path as we cannot garble and
there is a lot of work that is yet to be interpreted or translated.

Ans 1. Interpreted  

2. Garble  

3. Unravelled

4. Translated

Question ID : 26433071887

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

A place where coins are made
Ans 1. Furnace

2. Mint

3. Factory

4. Mine

Question ID : 26433060347
Status : Answered

Chosen Option : 2

Q.9 Select the option that expresses the given sentence in active voice.
The shop owners were requested to close the shops by the agitators.

Ans 1. The agitators have requested the shop owners to close the shops.

2. The agitators are requesting the shop owners to close the shops.

3. The agitators requested the shop owners to close the shops.

4. The agitators request the shop owners to close the shops.

Question ID : 264330132821
Status : Answered

Chosen Option : 3

Q.10 Select the most appropriate meaning of the underlined idiom.

We must draw the line somewhere as living expenses are increasing daily.
Ans 1. Draw a straight line

2. Fix the broken line

3. Line up expenses

4. Fix the limit

Question ID : 26433098329
Status : Answered

Chosen Option : 4

Q.11 Choose the option that rectifies the incorrectly spelt underlined word.

John chanced upon a former collegeue of his at the airport.
Ans 1. coleague

2. collegue

3. coleageu

4. colleague

Question ID : 26433088846
Status : Answered

Chosen Option : 4
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Q.12 Select the correct indirect narration of the given sentence.
Aravind said, “Let us wait for the cab.”

Ans 1. Aravind proposed that they should has wait for the cab.

2. Aravind proposes that let we waited for the cab.

3. Aravind propose that they should been wait for the cab.

4. Aravind proposed that they should wait for the cab.

Question ID : 264330132877
Status : Answered

Chosen Option : 4

Q.13 Select the most appropriate option to fill in the blank.

When you apply the medicine, the wound ___________.
Ans 1. heals

2. feels

3. kills

4. deals

Question ID : 26433060081
Status : Answered

Chosen Option : 1

Q.14 Select the INCORRECTLY spelt word.
Ans 1. Bureacracy

2. Bequeath

3. Beguile

4. Beverage

Question ID : 26433073879
Status : Answered

Chosen Option : 3

Q.15 Select the idiom that gives the most appropriate meaning of the underlined phrase in
the following sentence.

Our secretary is always in the mood for an argument. He must learn to keep quiet.
Ans 1. To go through

2. To turn up

3. To hold his tongue

4. To take off

Question ID : 26433086437
Status : Answered

Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Palaeontologists are like detectives who (1) ________ the evidence that (2) ______ animals
left behind. Those clues to what dinosaurs were like are found in fossils—the ancient (3)
_______ of an organism, such as teeth, bone or shell—or (4) _______ of animal activity, such
as (5) ________ and trackways.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 1. dominate

2. control

3. conduct 

4. examine

Question ID : 26433078994
Status : Answered

Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Palaeontologists are like detectives who (1) ________ the evidence that (2) ______ animals
left behind. Those clues to what dinosaurs were like are found in fossils—the ancient (3)
_______ of an organism, such as teeth, bone or shell—or (4) _______ of animal activity, such
as (5) ________ and trackways.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans 1. inactive

2. extinct 

3. vanished

4. surviving

Question ID : 26433078995
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Palaeontologists are like detectives who (1) ________ the evidence that (2) ______ animals
left behind. Those clues to what dinosaurs were like are found in fossils—the ancient (3)
_______ of an organism, such as teeth, bone or shell—or (4) _______ of animal activity, such
as (5) ________ and trackways.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. remains 

2. leftovers 

3. fragments 

4. memories 

Question ID : 26433078996
Status : Answered

Chosen Option : 3

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Palaeontologists are like detectives who (1) ________ the evidence that (2) ______ animals
left behind. Those clues to what dinosaurs were like are found in fossils—the ancient (3)
_______ of an organism, such as teeth, bone or shell—or (4) _______ of animal activity, such
as (5) ________ and trackways.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. submission 

2. proposal

3. compliance

4. evidence

Question ID : 26433078997
Status : Answered

Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Palaeontologists are like detectives who (1) ________ the evidence that (2) ______ animals
left behind. Those clues to what dinosaurs were like are found in fossils—the ancient (3)
_______ of an organism, such as teeth, bone or shell—or (4) _______ of animal activity, such
as (5) ________ and trackways.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans 1. pathways 

2. routes

3. canals

4. footprints

Question ID : 26433078998
Status : Answered

Chosen Option : 4
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Comprehension:
Read the given passage and answer the question that follows.

Wetlands, the most economically valuable and among the most biodiverse ecosystems in the
world, are disappearing three times faster than forests which will lead to severe
consequences. Approximately 35 per cent of the world’s wetlands were lost between 1970 -
2015 with annual rates of loss accelerating from 2000, according to the first-ever Global
Wetland Outlook of the Ramsar Convention, a global treaty ratified by 170 countries to protect
wetlands and promote their wise use. Wetlands, which include lakes, rivers, marshes and
peatlands as well as coastal and marine areas such as estuaries, lagoons, mangroves and
coral reefs, are currently estimated to cover more than 12.1 million km2, an area greater than
Canada.
Wetlands contribute to climate regulation and support ecosystems and biodiversity. Plants in
swamps absorb pollutants, mangroves store carbon, lakes and underground aquifers are a
crucial source of water, and coral reefs protect coastlines from wave action and serve as
shelter for marine organisms. Wetlands are home to indigenous peoples and a natural source
of livelihoods for their communities. They provide drinking water, energy, fisheries, agriculture,
transport, recreation, cultural values and tourism. While human-made wetlands - largely rice
paddy and reservoirs - have almost doubled between 1970 and 2015, natural wetlands have
been progressively declining. Losses have been driven by megatrends such as climate
change, population increase, urbanisation, and changing consumption patterns that have all
fuelled changes to land and water use and to agriculture. Increasing pollution and land
overuse significantly affect wetlands’ water quality. This impacts the livelihoods of
communities living near wetlands. Untreated wastewater, industrial waste, agricultural runoff
and erosion can severely compromise the water by escalating the levels of nitrogen,
phosphorous, salinity and faecal coliform bacteria. The main international efforts to promote
the conservation and prudent use of wetlands are through the secretariat of the Convention
on Wetlands, an intergovernmental treaty adopted in Ramsar, Iran in 1971. 170 countries - or
almost 90 per cent of UN member states - from all regions have become Contracting Parties
of the treaty.

SubQuestion No : 21
Q.21 Select an appropriate title from the given options.
Ans 1. Natural and human-made wetlands - A review  

2. An overview of effects of water contamination

3. Brief into the stretch of Canadian Wetlands  

4. Disappearing wetlands - A study

Question ID : 26433072747
Status : Answered

Chosen Option : 4
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Comprehension:
Read the given passage and answer the question that follows.

Wetlands, the most economically valuable and among the most biodiverse ecosystems in the
world, are disappearing three times faster than forests which will lead to severe
consequences. Approximately 35 per cent of the world’s wetlands were lost between 1970 -
2015 with annual rates of loss accelerating from 2000, according to the first-ever Global
Wetland Outlook of the Ramsar Convention, a global treaty ratified by 170 countries to protect
wetlands and promote their wise use. Wetlands, which include lakes, rivers, marshes and
peatlands as well as coastal and marine areas such as estuaries, lagoons, mangroves and
coral reefs, are currently estimated to cover more than 12.1 million km2, an area greater than
Canada.
Wetlands contribute to climate regulation and support ecosystems and biodiversity. Plants in
swamps absorb pollutants, mangroves store carbon, lakes and underground aquifers are a
crucial source of water, and coral reefs protect coastlines from wave action and serve as
shelter for marine organisms. Wetlands are home to indigenous peoples and a natural source
of livelihoods for their communities. They provide drinking water, energy, fisheries, agriculture,
transport, recreation, cultural values and tourism. While human-made wetlands - largely rice
paddy and reservoirs - have almost doubled between 1970 and 2015, natural wetlands have
been progressively declining. Losses have been driven by megatrends such as climate
change, population increase, urbanisation, and changing consumption patterns that have all
fuelled changes to land and water use and to agriculture. Increasing pollution and land
overuse significantly affect wetlands’ water quality. This impacts the livelihoods of
communities living near wetlands. Untreated wastewater, industrial waste, agricultural runoff
and erosion can severely compromise the water by escalating the levels of nitrogen,
phosphorous, salinity and faecal coliform bacteria. The main international efforts to promote
the conservation and prudent use of wetlands are through the secretariat of the Convention
on Wetlands, an intergovernmental treaty adopted in Ramsar, Iran in 1971. 170 countries - or
almost 90 per cent of UN member states - from all regions have become Contracting Parties
of the treaty.

SubQuestion No : 22
Q.22 Select the most appropriate ANTONYM of the given word.

Fuel
Ans 1. Encourage  

2. Deter  

3. Associate

4. Project

Question ID : 26433072745
Status : Answered

Chosen Option : 2

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Comprehension:
Read the given passage and answer the question that follows.

Wetlands, the most economically valuable and among the most biodiverse ecosystems in the
world, are disappearing three times faster than forests which will lead to severe
consequences. Approximately 35 per cent of the world’s wetlands were lost between 1970 -
2015 with annual rates of loss accelerating from 2000, according to the first-ever Global
Wetland Outlook of the Ramsar Convention, a global treaty ratified by 170 countries to protect
wetlands and promote their wise use. Wetlands, which include lakes, rivers, marshes and
peatlands as well as coastal and marine areas such as estuaries, lagoons, mangroves and
coral reefs, are currently estimated to cover more than 12.1 million km2, an area greater than
Canada.
Wetlands contribute to climate regulation and support ecosystems and biodiversity. Plants in
swamps absorb pollutants, mangroves store carbon, lakes and underground aquifers are a
crucial source of water, and coral reefs protect coastlines from wave action and serve as
shelter for marine organisms. Wetlands are home to indigenous peoples and a natural source
of livelihoods for their communities. They provide drinking water, energy, fisheries, agriculture,
transport, recreation, cultural values and tourism. While human-made wetlands - largely rice
paddy and reservoirs - have almost doubled between 1970 and 2015, natural wetlands have
been progressively declining. Losses have been driven by megatrends such as climate
change, population increase, urbanisation, and changing consumption patterns that have all
fuelled changes to land and water use and to agriculture. Increasing pollution and land
overuse significantly affect wetlands’ water quality. This impacts the livelihoods of
communities living near wetlands. Untreated wastewater, industrial waste, agricultural runoff
and erosion can severely compromise the water by escalating the levels of nitrogen,
phosphorous, salinity and faecal coliform bacteria. The main international efforts to promote
the conservation and prudent use of wetlands are through the secretariat of the Convention
on Wetlands, an intergovernmental treaty adopted in Ramsar, Iran in 1971. 170 countries - or
almost 90 per cent of UN member states - from all regions have become Contracting Parties
of the treaty.

SubQuestion No : 23
Q.23 Ramsar Convention was signed in the year ____________.
Ans 1. 1971

2. 2015

3. 1969

4. 2000

Question ID : 26433072743
Status : Answered

Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.

Wetlands, the most economically valuable and among the most biodiverse ecosystems in the
world, are disappearing three times faster than forests which will lead to severe
consequences. Approximately 35 per cent of the world’s wetlands were lost between 1970 -
2015 with annual rates of loss accelerating from 2000, according to the first-ever Global
Wetland Outlook of the Ramsar Convention, a global treaty ratified by 170 countries to protect
wetlands and promote their wise use. Wetlands, which include lakes, rivers, marshes and
peatlands as well as coastal and marine areas such as estuaries, lagoons, mangroves and
coral reefs, are currently estimated to cover more than 12.1 million km2, an area greater than
Canada.
Wetlands contribute to climate regulation and support ecosystems and biodiversity. Plants in
swamps absorb pollutants, mangroves store carbon, lakes and underground aquifers are a
crucial source of water, and coral reefs protect coastlines from wave action and serve as
shelter for marine organisms. Wetlands are home to indigenous peoples and a natural source
of livelihoods for their communities. They provide drinking water, energy, fisheries, agriculture,
transport, recreation, cultural values and tourism. While human-made wetlands - largely rice
paddy and reservoirs - have almost doubled between 1970 and 2015, natural wetlands have
been progressively declining. Losses have been driven by megatrends such as climate
change, population increase, urbanisation, and changing consumption patterns that have all
fuelled changes to land and water use and to agriculture. Increasing pollution and land
overuse significantly affect wetlands’ water quality. This impacts the livelihoods of
communities living near wetlands. Untreated wastewater, industrial waste, agricultural runoff
and erosion can severely compromise the water by escalating the levels of nitrogen,
phosphorous, salinity and faecal coliform bacteria. The main international efforts to promote
the conservation and prudent use of wetlands are through the secretariat of the Convention
on Wetlands, an intergovernmental treaty adopted in Ramsar, Iran in 1971. 170 countries - or
almost 90 per cent of UN member states - from all regions have become Contracting Parties
of the treaty.

SubQuestion No : 24
Q.24 ___________ exerts influence on the sustenance of people dwelling adjacent to the

wetland.
Ans 1. Depletion of water quality 

2. Agricultural patterns 

3. Recreational activities  

4. Rapid coastland erosion 

Question ID : 26433072744
Status : Answered

Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.

Wetlands, the most economically valuable and among the most biodiverse ecosystems in the
world, are disappearing three times faster than forests which will lead to severe
consequences. Approximately 35 per cent of the world’s wetlands were lost between 1970 -
2015 with annual rates of loss accelerating from 2000, according to the first-ever Global
Wetland Outlook of the Ramsar Convention, a global treaty ratified by 170 countries to protect
wetlands and promote their wise use. Wetlands, which include lakes, rivers, marshes and
peatlands as well as coastal and marine areas such as estuaries, lagoons, mangroves and
coral reefs, are currently estimated to cover more than 12.1 million km2, an area greater than
Canada.
Wetlands contribute to climate regulation and support ecosystems and biodiversity. Plants in
swamps absorb pollutants, mangroves store carbon, lakes and underground aquifers are a
crucial source of water, and coral reefs protect coastlines from wave action and serve as
shelter for marine organisms. Wetlands are home to indigenous peoples and a natural source
of livelihoods for their communities. They provide drinking water, energy, fisheries, agriculture,
transport, recreation, cultural values and tourism. While human-made wetlands - largely rice
paddy and reservoirs - have almost doubled between 1970 and 2015, natural wetlands have
been progressively declining. Losses have been driven by megatrends such as climate
change, population increase, urbanisation, and changing consumption patterns that have all
fuelled changes to land and water use and to agriculture. Increasing pollution and land
overuse significantly affect wetlands’ water quality. This impacts the livelihoods of
communities living near wetlands. Untreated wastewater, industrial waste, agricultural runoff
and erosion can severely compromise the water by escalating the levels of nitrogen,
phosphorous, salinity and faecal coliform bacteria. The main international efforts to promote
the conservation and prudent use of wetlands are through the secretariat of the Convention
on Wetlands, an intergovernmental treaty adopted in Ramsar, Iran in 1971. 170 countries - or
almost 90 per cent of UN member states - from all regions have become Contracting Parties
of the treaty.

SubQuestion No : 25
Q.25 Select an appropriate tone of the passage.
Ans 1. Objective and concerned  

2. Pleading and indifferent

3. Critical and cynical

4. Sarcastic and offensive 
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